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This study describes the importance of 0-sphere on the behavior of electrons. 0-sphere is suitable
for representing the positions of the two bare electrons which mentioned in the previous study. It
was a model that two bare electrons emitted potential thermal energy on one side and absorbed
the energy the other side. An electron travels by cyclically repeating both of the radiation and

absorption.

I. INTRODUCTION

The concept of O-sphere is very useful for explaining
new electronic models [1]. The O-sphere represents two
points where the circumference and the diameter inter-
sect. These two points correspond to the positions of two
spinor particles that are components of electrons.

The O-sphere has its use in embedding a one-
dimensional point in a two-dimensional representation
called a circle. Understanding the 0-sphere makes it pos-
sible to express the phenomenon in which two spinor par-
ticles within one electron move discretely.

II. WHAT IS THE 0-SPHERE

A 0O-sphere is a pair of points and has no area. The
general form of O-sphere is represented as n-sphere.

For any natural number n, an n-sphere of ra-
dius r is defined as the set of points in (n+1)-
dimensional Euclidean space that are at dis-
tance a from some fixed point O, where r may
be any positive real number and where ¢ may
be any point in (n + 1)-dimensional space. In
particular:

e a O-sphere is a pair of points (O — a, O + a), and is
the boundary of a line segment (1-ball).

e a l-sphere is a circle of radius a centered at o, and
is the boundary of a disk (2-ball).

e a 2-sphere is an ordinary 3-dimensional sphere in 3-
dimensional Euclidean space, and is the boundary
of an ordinary ball (3-ball).

e a 3-sphere is a sphere in 4-dimensional Euclidean
space [2].

III. REVIEW THE ELECTRON MODEL WITH
0-SPHERE

In this subsection, we will review the electronic model
with 0-sphere. The 0-sphere is a pair of points at the ends

of a one-dimensional line segment. The 1-sphere is a cir-
cle as shown in Fig. 1 (a,b). Alternatively, the 0-sphere
is indicate an intersection of a straight line and a circle
put on the same plane. In other words, by expanding a
two-dimensional circle into three dimensions, O-sphere is
an intersection points with a straight line passing through
a hollow sphere.

(a) S°: 0-Sphere (b) S!: 1-Sphere

Fig. 1. (a) the O-sphere (b) the 1-sphere

Previous studies have assumed that two bare electrons
exist in one electron [1]. The 0O-sphere is convenient for
defining the place where these two bare electrons exist.

Bare electrons with thermal potential energy (TPE)
as a rest mass are considered that TPE travels back and
forth between two points of 0-sphere by a radiation.

IV. CONCLUSION

It is possible to name the electron model mentioned
previously as 0-sphere electron model.

In this study, the position of two spinors contained
in an electron can be expressed using O-sphere. By ex-
tracting two one-dimensional points from the continuous
concept of a point called a circle, a discrete representa-
tion is possible. As grasped in the previous study, these
two spinor particles exist with repeated radiation and ab-
sorption of thermal energy. There are no other fermion
particles between the two particles, and all thermal en-
ergy is transmitted by radiation.
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